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SOCIOLOGY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

LW, DY S| 4 Swaable | devlopment i
can be understood” ? c_haracten_zm_ed by
A) AK. Saran (i)  Judicious use of resources
g g/lcN- DSJle)r(]elvaS (ii) Maintaining Ecological balance
D) D.P. Mukherjee (!ii) Eefor.estatio_nl fertilitt. durabl
2. Choose the correct sequence of (iv) feefplng SOIT Terti g\ Jurab'e
societal evolution in order of or future generation
increasing complexity. ] Choose the correct answer from the
(A) Aagriculture, Gathering-hunting codes given below:
and Industrial Societies : \
(B) Hunting-gathering, Agriculture Codes_. -~ .
and Industrial Societies ) (A) (i) (@) i)
(C) Hunting-gathering, Industrial (B) (i) G (iv)
Societies and Agriculture . ) T
(D) Pastoral,  Industrial  and (C)a (i) (i) - (iv)
Agriculture (D). Gv)*> (i) (iii)
3. Match the following statements in
||:!St—|||_ with the concepts given in 5. ( Who is the author of the book
Ist _Liét _ List — 1 ‘Peasant Society_ and Culture’ ?
(Statements) _(Concepts) (A) AR. Desai
a. Tendert1c3t/okf%ach I. V\_/estt_er- (B) Robert Redfield
group to take for nisation
grantedthe (C) M. Mead :
superiority of its (D) R.H. Lowie
own culture - )
b. gggrl]%hmicgfllelglsr i Eac;g;nant 6.  Match List—1 with List—II :
political power List -1 . List—1l
and Occupl-es- a a. The World Of l. Edward GrOSS
higher position Work
c g]eg?)(l;(laeg lower «ifi. Sanskriti b. The Il Peter Blau
' castes ~ sation Sociology of
collectively “try Work
to adopt upper c. Bureaucracy iii. Theodore
caste ' ‘practices in  Modern Caplow
and _belleﬂ‘_s hto Society
Etca(%ﬂ';e 19ner _ d. Work and iv. Robert Dubin
d. Explain the iv. Ethno- Society
gggﬂgefhebrlglé?gg centrism Mark the correct answer from the
societies through codes g-lven below
western contact Codes :
Codes : a b C d
a b ¢ d (A) iv i i [
(A) i i v i (B) i v i i
(B) iii i i [\ . . :
Ecg v i i € v ¥
D) i v i iii (D) i i i i
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(C) uwgdlgd (D) SLdt gt
2. Fgdl g8 Aol % w9 H shiash o
% W&l Y BN T BT |
(A) Fu, BER T FH
T S e
(B) DR THT  H,
ST TS
(C) TR Tshd T, 3fiefiteh Fuwst
3R i
(D) USTERT, ST=fTH S HiT
3. gE - | | fqU e et g - 6 S
TE GHeTT3Tl % W1 AT T
aeft - | T - 11 >
() ~ ("%euA)
a. I WEPIA B . UTEHIHIOT
%?aﬁm
qie
b. =g ﬁ 3R i, Wy A
oI Sfert U=T
I & SR TAST °
39 e WX et 6.
TAE |
c. =1 sfa & @ (i, G
ged ®0 9 39
% TR B
A § O\ 3R
TE AT, B {6
Sk ez | N JED
TTEhER ot & |
d. 9= T % v, Fea
oA § ARAE Shise
AN " AT
qierdT S
FATE |
F
a b c d
A i i v i
B) Qi i i v
© iv i iii i
) i iv i i
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Tt forehre St fereree Bt &

(i) HGTeFT T foepgor 3T

(i) Rfefdn! Tqem T W@

(iii) = =l HreAT

(iv) et digh & fero fogth a6t SeRepdn
A T qh FAT TG

= frw o we @ wE SRR W we

FHIT

FT

(A) () (D), (i)

(B) () (i) (i)

(C) <) (i) (iv)

(D) “(iv),, (i) (iii)

"dfsie WIETEe] UUE FHoal A THIh

H G B € ?

(A) TR I8

(B) e ISHITS

(C) um HE

(D) STRTT. e

gaAl-1 ot gli-11 % Grer gAferd L
= - | =it - 1

a. FAH ST . Tsas U

b. & F i, e =
LEISIEHIE]

C. Y TEST iii. faRie e
o RO

d. =& 3T iv. TS e
ST

To fT T P T W SR fafed

FIT

A

(=N

a b C d
(A) iv i i i
(B) iii v i i
(C) iv i i i
(D) i i i
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“By ‘cultural dope’ | refer to the
man-in-the-sociologist’s-society who
produces the stable features of
society in compliance with pre-
established and legitimate
alternatives of action that the culture
provides.” Who made the above
statement ?

(A) T.Parsons (B) J.Derrida
(C) H.Garfinkel (D) A. Giddens

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R).

Assertion (A) : Giddens  observes
that the concept of structuration
helps to understand the
importance of social practices
over both actions and structures.

Reason (R) : Structuration implies
dualism of society and individual.

Choose the correct answer from the

given codes.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true but (R) is false.

(C) (A) is false but (R) is true.

(D) Both (A) and (R) are false:

Which of the following development
perspectives encompasses, the_notion
of sustainable development as its
central objective ?

(A) Women in Development (WID)
(B) Women and Development (WAD)
(C) Gendertw.and Development

(GAD)
(D) Women Environment and
Development (WED)

Eco-feminism grew in India as the
result of

(A) Participation in Chipko
Movement

(B) Women’s participation in
Dandi March

(C) Women’s participation in
Freedom Struggle

(D) Women’s  participation in

Lokpal Movement

11.

12.

13.

14.

15.

www.sakshieducation.com

Which sequence of perspectives on
Gender and Development is followed
in India ?

(A) Welfare, Development,
Empowerment

(B) Politicization, Welfare,
Globalisation

(C) Welfare, Politicisation,

Modernisation
(D) Affirmative action, Welfare,
Politicisation

India’s path of development is based on
(A) Private enterprise

(B) Private and State enterprise

(C) State enterprise

(D) Gandhian model

Match“the.items in the List — | with
the List = Il and choose the correct
answer from the codes given below :

List -1 List—11

as Liberal i. Wallerstein

b. Uneven ii. Andre Gounder
development Frank

c. Centre- iii. Samir Amin
periphery

d. World- iv. Gunnar Myrdal
system

Codes :

a b c d

(A) iv i i i

(B) ii iii i iv

C) iv ii i iii

(D) iii i iv i

Who authored the book,
“Annihilation of Caste” ?

(A) A.R. Desai

(B) David Hardiman

(C) B.R. Ambedkar

(D) N.K.Bose

Who has examined the phenomenon
of Islamization in the context of unity
in diversity in India ?

(A) Yogendra Singh

(B) Imtiaz Ahmed

(C) Jalal Asad

(D) S.C.Dube
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[ie M < B o M | o2
AASTINREEAT o AN o U =T 9 €,
STt ge wfud e § 99T % R
faeyant 3k wNaE % U9 oty
forhea =T e, SO AW Spa
ST Al & 17 qE U T FeT € 2
(A) 2t b (B) . 3T

(C) wamwihker (D) © firge=

T 3 FeE KT T E U ST (A)

3T TET HRUT (R) T |

srfirpem (A) : fresTg = fewott &t &
o “GEATCHSar o Geheu T Sl
I TSN T H T
S FRRI & Hewd &l
T 4 TEEH e ¢ |

% (R) : LTS GHE 3T
=T & 3eda | il € |

T T MU % W e SR B A

HIfTT

C T

(A) (A) 3R (R) S T € |
(B) (A) W&l &, wifeh (R) Tota € |
(C) (A) T &, ek (R) &I & |
(D) (A) 3R (R) 31 TToid & |

frferfaa fasmr & ufteg Wd S A1
I HEA I[@YT F BT W CURUII
forhTT 7 STTUROT % STAId o € 2
(A) fowa H Aieeii(WID)
(B) Hfeemt 3% fasrd (WAD)
(C) ot 32X fo=hr (GAD)
(D) wieag ok fowm
(WED)

IR H IRTeIfaeh! AR Fefarad &

IIROTH: U g3

(A) ot TR § 9N o+ & HROT

(B) St AT # AfgeTaTt % 9N & &
HROT

(C) Zod=ar Wum o Hfgenen & o
T % HRUT

(D) RIS 3T | AECATS & 9T
T & HROT

EpICh

11.

12.

13.

14.

15.
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forT 3 fosr Taedt afvier i1 @i @1
S YRT H STIAET ST € ?

(A) 0T, foehr, TRTRAHIOT

(B) TSTITCIShIehIUT, SHeToT, SYeliehiul

(C) AT, REEIREACTE

(D) ®@F H FHRHEA, HeAW

qRA T o 9 Hefaread & g
T TR & ?

(A) =T 3=

(B) fAsir 3R Tor 3er|

(C) TE3IA

(D) TieiEEhEE

g < 't T&T B gt — || B e g
AT HieT 3R A 5T T et 9
TENIT H TIT BT

= - | = - 1
a. /K i, Ao ©H
b. EEE o™ ii. Ug e e

Cc. g IRty iii. THIT 3
d. Tvawomett v, TR iRew
FT !

a b c d
(A iv Qi i
B) Qi i i v
©) v i i i
D) iii i v |

“TfATET 3% HRE” ATHE [ &
TEF T & ?

(A) TR I

(B) <fae aifeds

(C) dt.3TR. sragsh

(D) W& a9

TR ¥ fafaear 7 uewdr & dshea |
SLCATHIERIOT St Tl <t ST fohd ol & 2
(A) s e

(B) it 3EHT

(C) STeTeT 319

(D) wad. g
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Assertion (A) : Green revolution
resulted in agrarian prosperity.

Reason (R) : All agrarian classes
gained economically.

Codes :

(A) (A)istrue and (R) is false.

(B) (A) is false and (R) is true.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true.

The Minimum Wages Act was
enacted in the year

(A) 1949 (B) 1950

(C) 1948 (D) 1952

Who regards American Society as a
‘great  saleroom’  filled  with
hypocrisy, deceit and insincerity ?
(A) R.K.Merton

(B) C. Wright Mills

(C) T.Parsons

(D) E. Durkheim

The concept of Rajputization was
coined by

(A) N.K.Bose

(B) Surajit Sinha

(C) David Hardiman

(D) M.N. Srinivasan

Which of the following is not"the
indicator of Human Development:?
(A) Scientific Orientation

(B) Improvement in quality of life
(C) Gender equality

(D) Widow remarriage

Who has discussed the Modes of
Adaptation«in American Society for
the  development of  deviant
behaviour.?

(A)R.K. Merton

(B)~..E. Durkheim

(C) G. Tarde

(D) T. Parsons

Who authored the book “Culture
Change in India; Identity &
Globalization” ?

(A) T.K.Oommen

(B) Yogendra Singh

(C) A.K. Saran

(D) Dipenkar Gupta

23.

24,

25.

26.
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Match the items in List — | with the
items in List — Il and choose the right
answer from the codes given below :

List—1 List—11
(Books) (Authors)
a. The Elementary i. Max Weber
Forms of
Religious Life
b. Religion of ii. E.EE. Evans-
India Pritehard
c. Primitive iii. Emile
Religion Durkheim
d. Religion and.iv. M.N.
Society among Srinivasan
the Coorgs of
South India
v. Robert N.
Bellah
Codes::
a b c d
(A)" iii [ Vv
(B) iii i v
C iv v i i
(D) iii Wi v [

In which of the following Indian

sociological studies was structural-

functional approach adopted ?

(A) Social Background of Indian
Nationalism

(B) Society and Religion among
the Coorgs of South India

(C) Peasant Movements in India

(D) Diversities

Which of the following is not included

in the Gender Inequality Index ?

(A) Capacity to determine one’s
own life chances

(B) Adolescent fertility

(C) Political representation

(D) Labour force participation

Who has made the statement ‘Caste is
closed class and class is open caste” ?
(A) D. Hardiman

(B) L.Dumont

(C) S. Espstein

(D) Milton Singer

S-05-13
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afirped (A) : ERA Shifd T IROTH &
i 9gig |

& (R) : @Y I o B 3N
A9 |

A

(A) (A) Tl g 3T (R) T |
(B) (A) 7o § 3R (R) Wl € |
(C) (A) 3R (R) I Tord & |
(D) (A) 3R (R) I &I & |

A Aol tfufan Frefatad § @
fopg o sttufrafad foar mar 2

(A) 1949 (B) 1950

(C) 1948 (D) 1952

frefefad o @ forae st 9Tt @t
I, FUe SR UET ¥ URYY ‘g
fershae” arm & 2
(A) 3R, weA
(C) 2 98

(B) . I=e o
(D) % 3@

TSTYATROT 1 WehoadT (=feIrad § 9
e el & ?

(A) wH a9

(B) g fa=an

(C) <fae el

(D) T©HTA. shferad

fr=fefad & @ o9 a1/qFe fowa &
qIF TRl § ?

(A) ST STRTTEERRT

(B) i HIUIET & o

(C)  ifiTer FHwear

(D) foar gefeaTe

o T®Rl ZRR & [GahE & oY
ST TS H TR0 o ekl & IR
T Tohe= =l € ?

(A) ¥R& WA (B) € g@m
(C) st e (D) 2t IRE
“Tel O 3T SRS, SYES<Id UUS
ToAGATESIY" AT e o ford! & 2
(A) & amq (B) ans e
(C) T ¥R (D) feURT T
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23. At — | B HRT @ g — || B AR %

e gHferd AT 2R A T e e
T TEl ST HT TI BT
= - | = - 1
(q&h) (o)
a. TUGHO ®E i, HEg A
AT AT
R
b. Relier 3 2fear ii. 3. o9
e
c. fafea fRelcm jilingmiset 3@
d. Refem S, jv. T,
HqEEd T g | sfiftreme
T A=Y
gean
v, T T
)
G T
a b c d
A di i v v
®) i i i v
© v v i i
(D) iii i iv i
24. frafafEd ¥ 9 9 IRAE ESREE
AT U HLATH-UHTATCHE GIeehivT
AT T ?

(A) YRAE TLEAT B HHISTS

g

(B) 30T YRA & FT H TENT R

(C) ¥R ¥ T 3ARIer

(D) fafaear

25. Tr=fafea @ @ 8 ot Sramman

gash | INHeT &t fohar T & 2

(A) 310 Slad SRl & U @
T

(B) TSI USH=eltere

oo 0

(C) iifess Hfaftee
(D) & T Ui IRt

26. IE FF THgH § fF Sid G Ot ¢
I a7 3T ST &7 2
(A) ELEEms (B) U SgHie
(C) wa.z@&H (D) feea faR
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‘Doing Gender’ requires working
with

(A) Women only

(B) Women and men also

(C) Women and men separately
(D) Women and men together

Who described modernization as the
transition from ‘Gemeinshaft’ to
‘Gesellshaft’, which signifies the
progressive loss of community amid
growing individualism ?

(A) M. Weber

(B) F. Toennies

(C) Amitai Etzioni

(D) David Reisman

Neo-functionalism was developed by

(A) B. Malinowski and A.R.
Radcliffe Brown

(B) Alexander C. Jeffrey and P.

Colomy

(C) Alexander C. Jeffrey and L.
Coser

(D) Talcott Parsons and Marian J.
Levy

Who amongst the following is /ot
connected with phenomenological
sociology ?

(A) Alfred Schutz

(B) Max Weber

(C) Peter Berger

(D) Ralph Dahrendorf

Which one “of . the following is,

according to Giddens, not true ?

(A) Thewconcept of structuration
implies that the constitutions of
agents are structure are two
independently given sets of
phenomena.

(B) ‘Agents’ and
suggest dualism.

(C) ‘Agents’ and ‘Structures’ are
locked in an irreconcilable
conflict.

(D) There is a dialectic relationship
between ‘structure’ and
‘agency’.

‘Structures’

32.

33.

34.

35.

36.

37.
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73" Constitution of Amendment is
responsible for

(A) Emergence of rural leadership
(B) Empowerment of rural women
(C) Gram Panchayat’s functioning
(D) Representation of rural youth

According to whom *“Crime is an
integral part of all healthy societies” ?
(A) R.K.Merton

(B) E. Durkheim

(C) A.Cohen

(D) D. Matza

Marxist Feminists«explain patriarchy

in terms of

(A) “Lack of equal opportunities for
men and women

(B).»Oppression of women
economically, politically and
sexually

(C) Exploitation of women through
domestic labour

(D) Double oppression of capitalism
and male domination

The theory of scientific management
was first spelt out in detail by whom ?
(A) Tom Burns

(B) G.M. Stalker

(C) F.W. Taylor

(D) None of the above

Who coined the concept of ‘Culture
of Poverty’ ?

(A) Oscar Lewis

(B) Walter B. Miller

(C) Robert Redfield

(D) M.N. Srinivas

“Action and Its Environments” was
written by

(A) Talcott Parsons

(B) Juergen Habermas

(C) A.C. Jeffrey

(D) Max Weber
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‘AT HE’ H HEfEd & 9 B
Wm%

(A) et Afeaat & de

(B) wfeeTati 3T} qHuT & |y oft

(C) wfeeTal 31} foeud: I&ut & |1
(D) wfeeTel 31 o6t & qre-are

MY I oo fohe dyar o
9§ UH SIRU & w9 fEr & e
TR AT WA §U AMCHT
TATTHT T ST g e € 2

(A) wH I

(B) TR 2FH

(C) aieré i

(D) <o dwae

o oo

To-ThIATHERAT bl T Fefetad |

Y forg foram o1 ?

(A) o TifeHeER 3R TR
LRI - ST

(B) 3TciarieT |, Sk SR Y. et

(C) 3Tciaie Tl Sk 31X Ue, IR

(D) <oohie UE=T 7 ARTA o, oidlt

fAfefad § 4@ &9 TEeacTs
USRS | Gog 7Tl € ?

(A)  3THS et

(B) THg A

(C) drx s’

(D) % SEESH

firgeT ' eruR ffofed 5 @ &= @

Tl el e ?

(A, TFTeHHAT Tt Fehea T | 7 FHied
& o5 SR AR IS & e
TESAT % 3T A UG W E |

(B) ‘FR&® R ‘THA JRIUA I
gt € |

(C) ‘PRI X ‘THARN H T
TG T a9 Y A AT E |

(D) T 3R R & o el
TEY T |
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35.

36.

37.

www.sakshieducation.com

733t Wigge GeneA Fefafad & o
SRR €

(A) TTHIOT e T 37T

(B) TITHIOT HigeTST T WRTSRIISHROT
(C) 7™ darad &+

(D) T e T Uidree

frfefed § @ fras AR “sTmTYy
T T ST ol ST S8 ?
(A) R & "7

(B) T 3@m

(C) T =R

(D) <. He=

AT ARMEISe fugar i faee '

¥ fefofad % &7 ° =amen wd €

(A) gy, R Hieama & fau TwE
STTRT T HHY

(B)~ Hfectatt &1 3mferss, T 3K
I Sedte

(C) =] M & HIeAd | Higenal &
ireoT

(D) USlag 3R GBI H IR
Sedte

A Yee % fagia ot fEteiad J
T fFee 998 ueet = T ar ?

(A) T\

(B) S.uA. wIesh

(C) T T=g, o

(D) S H | T el

TRIS <l FEpTa” ol WehodT foha ht ?
(A) R fafem

(B) dmeeX ot faeer

(C) &< IThics

(D) TuHTH. shfer

“THR TS 328 A Tefeiad §
Y fore forar an 2

(A) T U

(B) ifem g

(C) udh sk

(D) TE AT
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Juergen Habermas was concerned
mainly with

(A) Work and exploitation

(B) Post modernism

(C) Functionalism

(D) Communication

In “the case of Kkinship... the
observable phenomena result from
the action of laws which are general
but implicit.” Who made the
statement ?

(A) Meyer Fortes

(B) Lucy Mair

(C) Robin Fox

(D) Claude Levi-Strauss

Avuncular relationship means the

relationship

(A) between virilocal and neolocal
families

(B) between the siblings

(C) between the parents and the
offspring

(D) between uncle or aunt and
nephew or niece.

Structuralism analyses the basic
structures underlying human thinking
and human social groups. “The
foregoing idea is most (clearly
suggested in the writings:of

(A) S.F. Nadel

(B) A.R. Radcliffe-Brown

(C) Ferdinand de/Saussare

(D) Claude Levi-Strauss

Which one" ~of the

statements'is incorrect ?

(A) Deconstruction seeks to
confirm metanarratives

(B). ", Deconstruction seeks to
undermine the existing texts
such as extant sociological

following

theories

(C) Deconstruction seeks to
unravel the inherent
contradictions  in  existing
knowledge.

(D) Deconstruction is a part of
epistemological post-
modernism

43.

44,

45.
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In whose words, punishment “‘Serves
to heal the wound’s done to the
collective sentiments’ ?

(A) R.K. Merton

(B) E. Durkheim

(C) E.H. Sutherland

(D) D. Matza

Assertion (A): The  degree  of
decrease and increase inwsocial
solidarity leads “people to
commit suicide;

Reason (R) : In” ‘modern society
people commit.suicide, because
of personal/self-centred
reasons:

Codes,:

(A) “(Ais false but (R) is true.

(B)' W(A) is true but (R) is false.

(C)* Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) Both (A) and (R) are true, but

(R) is not the correct
explanation of (A).
Match List — I with List — Il and

choose the right answer from the
codes given below :

List -1 List— 11
a. Differential i. E.Durkheim
Association
theory
b. Theories of ii. A.Cohen
Suicide
c. Labelling iii. E.H.
theory Sutherland
d. Delinquent iv. H.S. Becker
sub-culture
theory
Codes :
a b c d
(A) i i i v
(B) iii i iv i
(C) ii i v i
(D) iv i i iii
S-05-13
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S FeRTE H ey T w9 9
frfefaa o 9 fordass @y o1 ?

(A) HE S T

(B) STR-aMYEHA

(C) vehTcHT

(D) HER

“Mehe Halferal o THe § AT AT
% UROTH: g TEeT, QM & Al
YT § 17 AE Ho Trered 7 9
forgrent & 2

(A) R

(B) It A

(C) e e

(D) e S|

TP Taiy § e &

(A) ufqentHes R Faens IRar
&% T ey

(B) E-afeAt & ot Way

(C) HIe-TaT 3 HAM & e Ty

(D) =TT SR ST AT oS &
e ey

TEATCHeRdT Hadl faveivor, aFe e
3R AME WIS @HEl § sidied
o @A € | SUgE_feER
Tt § 9 e ofae § 3t
e w9 § oI fondr Tnre?

(A) THIE, ATgA

(B) TR, it - IS

(C) ieie fg gaw

(D) wARETE-EE

FAfafEd & & IF 91 H2F Tord ¢ ?

(A) NEEET oAty e # gie
AT BIA |

(B) fa@=T ©® &I HHSEIEE
3T BT € |

(C) fagxemm # formm 7= # Ffed
G Hl YA BT ¢ |

(D) faER=AT AE-HEETS  IR-

YT T AT & |
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foraes w5t A ST ‘Tmfes HamE H
faw 7T =rEl Bt R T B war & ?
(A) *R&, 7

(B) % 3g@m

(C) U= WEeie

(D) . me=m

ANfHYT (A) IS THHHAT T
FAT MR ghg ' HEL N B
3McHE A & foTw, foaer st
T

% (R) : YFE TS H A
AfFATa/ecADBST HROT
SR i € |

(A)." (A)TeTd & Wi (R) W&l & |

(B) 1(A) W&l & i (R) Totd & |

(C) (A) ¥R (R) sHi Wl & &1 (R),
(A) T T& AR E |

(D) (A) @R (R) AT W& & Wi
(R), (A) = Wel =ame &l & |

gar — | H g - | ¥ gafed ST

3R A9 i e & ¥ W& SW H I51
HIFTT
= - | = - 1
a. foviees g9 fogia i, € g@m
b. STcHET ii. T PeH
EEEA
c. AHwY fag il ST, WSS
d. STERI 39 iv. TIUE. ST
i fagia
S
a b c d
A i i i v
B) i i v i
©) i i v i
O) iv i i il
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Positive checks are those which
increase mortality, preventive checks
are those which lower fertility”. This
statement can be attributed to

(A) Adam Smith

(B) Karl Marx

(C) Thomas Malthus

(D) Mahatma Gandhi

Who defines ‘White Collar Crime’ as
“Crimes committed by persons of
high social status and respectability
in the course of their occupations” ?
(A) H.S. Becker

(B) E.M. Lemert

(C) G. Tarde

(D) E.H. Sutherland

To explain deviance the ‘legitimate
opportunity  structure’ and the
‘illegitimate opportunity structure’
have been referred to by

(A) R.K.Merton

(B) D. Matza

(C) R.A.Cloward and L.E. Ohlin
(D) E. Durkheim

Match List — | with List — II"and
select the correct answer fromsthe
codes given below :

List—1 List—T1
(Authors) (Books)
a. Selig i.(_India : The Most
Harrison Dangerous
Decades Ahead
b. Lloyd 1. Modernity of
Rudolph Tradition
and “Susan
Rudolph
c. B.Baviskar iii. Politics of
Development
d. Myron iv. Politics of
Weincy Scarcity
Codes :
a b c d
(A) i i i v
(B) iv i i [
©) ii [ iv il
(D) i i [ iv

50.
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Provision of houses/land to the
displaced persons on account of

industrialization falls under the
purview of

(A) Trade Union

(B) Corporate Social

Responsibility (C.S.R.)
(C) Jamindar
(D) Panchayat

Assertion (A) : In eontemporary
Indian society.the incidence of
crime has “increased. Police
alone _.cannot prevent and
control.the'rate of crime.

Reason(R) | : The ‘community
policing system’ along with
public co-operation could help
in reducing the rate of crime.

Codes :
(A) (A)is false but (R) is true.
(B) (A) is true but (R) is false.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

During which decade, Census of
India recorded absolute decline of
population size ?
(A) 2001-2011
(B) 1911-1921
(C) 1941-1951
(D) 1981-1991

Which one of the following process
defines Demographic Transition’ ?

(A) Migration and Fertility

(B) Mortality and Morbidity

(C) Fertility and Mortality

(D) Morbidity and Fertility

S-05-13



46.

47.

48.

49.

S-05-13

www.sakshieducation.com

“HRTHE b o Ak & & o8 g
T H g gl §, FoRw % o % e
€, N ST %9 et € 17 g e
frefofad & & feraer € 2

(A) TeH R (B) ret AT

(C) gmgamed (D) Wered

“Hhe 19T Y’ I TE GRAT fHE
& 2 fF T Y IO T % AR
I=9 QTS Uiael 3R Fery aret
e g fhT T T & 17 2

(A) wETE g (B) TuH wEe
(C) =i ze (D) EUH. WIS

foamraar w = w1 % fow
‘fafmrg e AT 3R 341%11‘%11?@
3IL AT bl 3ol I"H-"I (‘l ﬁ -\&
e TR € 2

(A) *R&. 7

(B) I s

(C) °RT FIEE 3R Tt 3. Sgfer
(D) % 3@

gE - | ®ogE - 1 % 9 gaferd
T AR = KT T F § Gl SR
T T BT

=t - 1l
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SEMHIOT o HROT foeenid safemal &
T w1 wrEeE FEfetaa o
T frges ST AT € ?

(A) WY E§T

(B) WHRUNE WM g (C.S.R.)
(C) SRR

(D) Y=

A (A) : FITH IRANTIST |
AITY H TR ATy T T |
3TRTY ST I GfeT@-2Thet el b
TRt & 31X MR el e Tk
T

% (R) » ST o WEANT % -
G “HETR it e 36
ST Tl FHT B H FeTah &l
Tl ¥ |

L A

(A) (A)TTer &, AT (R) Wl & |

(B) (A) Tl &, wifhT (R) oA & |

(C) (A) R (R) i Wl & &R (R),
(A) = TE A E |

(D) (A) 3R (R) IH Wl T Afeh
(R), (A) =l Wel =amer &l & |

frafefad & & 9 39 § 9Ra @t
SFRTOMT § S % 3T | 9RY Al
ST I TTE ?

(A) 2001-2011
(C) 1941-1951

(B) 1911-1921
(D) 1981-1991

frafafas & @ =9 9@ ukea

;wi?@qqﬁq qRITE” ST AR St
2

(A) Tomo X Satehdr

(B) I 3 STl

(C) 3ERHT 3R YR

(D) ST X el

Paper-111



54,

55.

56.

S7.

Paper-111

www.sakshieducation.com

Assertion (A) : Less developed
countries of the world have
persistently shown evidence of
higher population growth.

Reason (R) : Poor countries lack
natural resources for
development.

Codes :

(A) (A) isfalse, (R) is true.
(B) (A) istrue, (R) is false.
(C) Both (A) and (R) are true.
(D) Both (A) and (R) are false.

Match List — I with List - 11 :

List—1 List— 11
a. Industrial Man i. T. Burns
b. The ii. E. Goffman
Presentation
of Self in

Everyday Life

c. The Coming iii. A. Gouldner
Crisis of
Western
Sociology
d. Introduction iv. D.L. Miller
to Collective
Behaviour
Codes :
a b c d
(A) i i i v
(B) ii i v i
(C) i v i i
(D) iv i i iii

Who is thewauthor of the book titled
“Women’s . Role in Economic
Development’ ?

(A) ~Catharine Scott

(B)*~ Nancy Hartsock

(C) Esther Boserup

(D) Dorothy Smith

Who is most closely connected with
Phenomenological Sociology ?

(A) Max Weber

(B) Emile Durkheim

(C) Alfred Schutz

(D) Lewis Coser

58.
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60.
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Under high birth rate than the death

rate for several generations, the shape

of the ‘population pyramid’ will

reflect

(A) Wider top, smaller base

(B) Wider base than the top

(C) Bulging middle than top and
base

(D) Similarity in base, middle, and
top

Which are modern rural social
institutions in the” past~independent
India ?

(i)  Rural Scheol

(i) RurakCo-operative Society

(iii), .Gram.Panchayat

(iv). Village Khap Panchayat

Find » the correct combination
aecording to code :

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i), (i) and (iv)

(D) (i), (it) and (iii)

Which of the feminist ideologies
seek to promote gender free society ?
(A) Socialist Feminism

(B) Radical Feminism

(C) Liberal Feminism

(D) Psychoanalytical Feminism

In the National Population Policy of
India 2000, which one is not a “socio-
demographic goal for 2010” ?

(A) Reduce infant mortality rate to
below 30 per 1000 births.

(B) Reduce maternal mortality ratio
to below 100 per 100000 live
births.

(C) Achieve 100 percent
registration of births, deaths
and marriages

(D) To compulsorily make 20 years
as age of marriage for girls.
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54, f\wepe (A) : fava & w9 fawtad
M A Iod TG B FAd s
% THTOT S i e €
% (R) : TS <91 % U foeRr
% fow wrelde Samedr @b
T
FeT
(A) (A) T €, (R) Tl ¢ |
(B) (A) T E, (R) T € |
(C) (A) R (R) I W&t & |
(D) (A) 3R (R) 3HI Terd € |
55.  gelt-1 ot GEl-11 o |1 FATT H
=t - | = - 1
a. AEfres =af i 2L &9
b. FFE T H i, T THEE
3T o TRfT
c. UfvemY iii. T MeeR
TuTSTeTE |
3 oA e
d. 9Hfes &R iv. S.Ue. e
T IR=T
%
a b c d
(A i i i v
B) i i v i
©€) iii v i~
O) iv i i i
56. U et IA. SIS [SaeTqHe’ AT
&I & B & 2
(A) SR Shie
(B) e BT
(C) “==R aE™
(D) SR fage
57. WEIATCHS AR d a9 e i
eI 2
(A) T SR
(B) 3T 3@
(C) 3 Tt
(D) g HaEX
S-05-13
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e difedl a0 g ¥ i 3TUET 3= 57
T F YT TG AU HEHd’
R FAfafad 9 F fg@re <m -

(A) TR TET, 3MER BfeT

(B) SiY9NT i o=l H STMYR wigT
(C) ST Y YR i qoi-T § HeT

I | 3R
(D) TR, HeT SR TN § FHAT

WA % A% 9RA W SE-aE
3R TTHIOT HTeTTTeh, W € ?

(i) T foemer

(i) T Rt Wit

(i) o= 9gEd

(iv) @Y g=Ed

< o, STTAR TE! I N T T
(A)y, Q). 3R (i)

B) (i) 3 (iv)

(©) (i), (ii) 3R (iv)

(D) (i), (ii) 3 (iii)

Fefeiiad o 9 g ARaRT foamemT =3
forT =t aRoT go TEST S agrEr femn
T 7

(A) TESER! TR

(B) SCHARI ARIETT

(C) SERAE TR

(D) wAIfaveTT AR

IR & LT SHEE Aifd, 2000 H

frfafaa & @ &= @ 2010 & o

ISR e’ el & ?

(A) 9T 1000 =1 T 1Y) Tegey i
30 W HH HAT |

(B) wfd 1,00,000 Sifed =7 W= STean
g T W IEE 100 & FH
HET |

(C) <9, 9og 31K faame & 100 Hfeerd
USTIERYOT T I8 T SHeT |

(D) et % forw faame =t 55 20 o
e T |
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62. Who remarked regarding India’s
Development as “Soft State” during
1960’s ?

(A) Max Weber
(B) Andre Beteille
(C) Gunnar Myrdal
(D) AK.Sen

63. Match List — | with List — Il and find
the correct answer :

List—1 List— 11
a. Crude Birth i. Deaths of
Rate persons per

1000 mid year
total population

b. Crude Death ii. Deaths of
Rate children under
1 year’s of age
per 1000 live
births during a
year
c. Infant iii. Live births per
Mortality 1000 total mid
Rate year population
d. Life time iv. Number of
Migration persons
Rate enumerated

other than_their
place of birth

per 1000 total
mid\period
population
Codes :
a b c d
(A) i i [ v
(B) iii [ e v
(C) iv i [ i
(D) i i ivo il
64. The factors of Rural Social Change
include :

(i) “Electronic media
(i)  Farm technology
(iti) Rural ideology
(iv) Khap Panchayats
Find the correct
according to code :
(A) (i) and (ii)
(B) (ii) and (iii)
(C) (i), (i) and (iv)
(D) (i), (i) and (iii)
Paper-111
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Match the items in the List — | with

the items in the List — Il and choose
the correct answer from the codes
given below :
List -1 List—11
a. Physical i. Genital
violence Mutilation
b. Emotional ii. Denial of
violence economic
resources
c. Economic iii. Deprivation
violence of,Conjugal
rights
d. Cultural iv. Bride burning
violence
Codes :
a b c d
(A) 2Cive, i i i
(=) i v i
(C). i iv il i
(D) il i i iv
Match List — | with List — Il and

select the correct answer from the
codes given below :

List—1 List— 11
a. Cultural lag i. H. Cooley
b. Primary group ii. M.N. Srinivas
c. Sanskritisation iii. W.F. Ogburn
d. Organic iv. E. Durkheim

solidarity

Codes :

a b C d
(A) i [ TTI—1Y
(B) iii [ v
C) iv il [ i
(D) i iv i i

Who made the distinction of two
opposing spheres of ‘Female world of
emotion and cooperation and male
world of rationality and competition’ ?
(A) John Bowlby

(B) Talcott Parsons

(C) Robin Fox

(D) George Peter Murdock
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1960 & T3 % IR 9RT & o &
IR T gy T Tohae e ar ?

(A) FHE IR (B) Ug &
(C) TRfmeear (D) uws &=
gl-| H g1l F 9 gaferd wifee
3N TEl ITR 1 TTT HIfT

=i - | =t - 1

a. ImNtyd i Wi 1000 T a9

SHET H FHoT ST
q  afwE @

7
b. sy ii. U 99 F IRH
TG afd 1000 SHfad
S = H |
a9 ¥ %9 U H
7
c. Ty iii. o T A
TR ST W) Ut
1000 STifard ==t
5T
d. Sias iv. %oT Te Iyay
D) TGS WU
1000 37 ST
T & I 9 =
= W) A T
AferTal sl HET

a b c d
(A) Qi i v
(B) i i . ii «iv
(C) v i\ i* i
(D) i i v i
TTHOT HHMSF URad & SRl |
frfcfea § 9 & e € 2
(i)~ oreites Hifgar
(i) g?&ltﬁ%ﬁfr@
(iii) w7 foremREmRT
(iv) @Y =
< H AR Hel I & T HiTT ;
(A) (i) 3 (ii)
(B) (ii) 3% (i)
(C) (i), (ii) 3R (iv)
(D) (i), (ii) 3 (iii)
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gt — | AT g - 1] AR

T GHAT HNT SR A= §U T Fef
T TEl ST HT TI BT
=it - | =it - 1

a. WRRsfEE i SEmE
faea

b. HameAss &\ i, omieeR WAl
T TTHR BT

c. 3oy f&am iii. I TYeHR
G T

d. |iEplas BH@ v, T START

T

a b c d

(A) iv i Vi
B) “i' Qi v i
©€) NS v i
©) Vi i i v
Gl - 1 T G - 11 GHferd T |
Tt 5T 7T e 1 ITAT I
=i - | =t - 1
a. GEHd® wvFd i, U, Fol
b. wafd THE i, TH.EA. giHarg
C. TEHARIOT iii. S, e
d. Sfgw qawar v, € 5@
FeE !
a b C d
A i i i v
B) i i i v
©) iv i i i
©) i v i il

‘TReeAT 1 G adT T&aim sid 37
ThRE 3R AfaeTel 1 qE S el
Tfdser &1 o1 foigtentor fohe fopam 2
(A) S SISt

(B) <icshe Ui

(C) e w

(D) TSI WX et
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68. Contribution of social division of
labour has been discussed in depth by
(A) Emile Durkheim
(B) Max Weber
(C) Vilfredo Pareto
(D) Pitirim Sorokin

69. ‘Brain Drain’ is a concept associated
with which one of the following ?
(A) Large scale immigration of
technically qualified persons
from less developed to
developed countries.

(B) Large scale flight of labour
from poor countries.

(C) Displacement of people due to
war and violence

(D) Immigration of foreign experts
during colonial rule

70. Match an item in List — | with an

item in List =11 :
List -1 List—11
(Books) (Author)

a. Caste in Modern i. A. Beteille
India and other

Essays

b. Caste, Class ii. Dumont
and Power

¢c. Homo iii. A.R.(Dgesai
Hierarchicus

d. Peasants iv..P. Gisbert
Struggle in
India

Codes :

a b c d

(A) iv i i iii

(B) iii ii i v

(C) «i i iv il

(D) wiv i iii i

71. Gender roles involve ranking of men
and women differently in terms of
() Roles (i) Relationships
(i) Resources  (iv) Power
Select the correct answer from the
codes given below :
(A) () (i) (i)
(B) (i) (iii) (iv)
(€ @) (i) (iv)
(D) (iv) (iii) (i)

72. Match the women development
approaches in the List — | with the
Feminist Schools of Thought in the

List — Il and choose the correct
answer from the codes given below :
List—1 List— 11
(Women (Feminist School of
Development Thought)
Approaches)
a. WID i. Marxist/Feminist
Thought
b. WAD ii. Eco Feminist
Thought
c. GAD i, Liberal Feminist
Thought
d. WED iv. Socialist Feminist
Thought
Codes
a b C d
(A) i v i
(B)" ii [ i v
(C) v i [ i
(D) iii [ iv i

73.  The term proximate determinants of
fertility was coined by
(A) Kingsley Davis
(B) Judith Blake
(C) John Bongaarts
(D) Karl Marx

74. Who is the author of the book
entitled “Alienation and Freedom” ?

(A) M. Blumer
(B) H.Braverman
(C) P.M.Blau

(D) R. Blauner

75.  Which of the following States and
Union Territories have the lowest
overall sex-ratio as per the Census
Report of 2011 ?

(A) Daman and Diu
(B) Punjab

(C) Andhra Pradesh
(D) Meghalaya
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AMITSTS 20 IS & AR 6 THIR
== FAfatad 9 9 e &t 2

(A) TEAIEE  (B) HH 9

(C) faks e (D) fuefy @Rife

‘YA TR &l Gehou T (=fariad §

Y frad dag € ?

(A) Y Tosiad 3o 9 fastad o o
ThIeh &0 T IIdT W At
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Subject (05 ) SOCIOLOGY

Qno Answer Qno Answer
1 P 51 D
2 B 52 B
3 C 53 c
4 B 54 B
> B 55 A
6 A 56 C
7 C 57 c
8 A 58 B
9 P 59 D
10 A 60 B
11 A 61 D
12 B 62 c
13 A 63 B
14 c 64 A
15 A 65 A
16 D 66 B
17 c 67 B
18 B 68 A
19 B 69 A
20 D -0 N
21 A 71 C
22 B 72 D
23 B 73 c
24 B 74 D
25 A 75 A
26 A
27 D
28 B
29 B
30 D
31 B
32 B
33 B
34 D
35 c
36 "

37 c
38 D
39 D
40 D
41 D
42 A
43 B
44 D
45 B
46 c
47 D
48 c
49 A
50 B
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